

Lös talen!

$$\begin{array}{c} \text{Mickey head} \\ 10 \end{array} - \begin{array}{c} \text{Mickey head} \\ 4 \end{array} = \begin{array}{c} \text{Mickey head} \end{array}$$

$$\begin{array}{c} \text{Mickey head} \\ 9 \end{array} - \begin{array}{c} \text{Mickey head} \\ 2 \end{array} = \begin{array}{c} \text{Mickey head} \end{array}$$

$$\begin{array}{c} \text{Mickey head} \\ 3 \end{array} - \begin{array}{c} \text{Mickey head} \\ 3 \end{array} = \begin{array}{c} \text{Mickey head} \end{array}$$

$$\begin{array}{c} \text{Mickey head} \\ 8 \end{array} - \begin{array}{c} \text{Mickey head} \\ 5 \end{array} = \begin{array}{c} \text{Mickey head} \end{array}$$

$$\begin{array}{c} \text{Mickey head} \\ 5 \end{array} - \begin{array}{c} \text{Mickey head} \\ 1 \end{array} = \begin{array}{c} \text{Mickey head} \end{array}$$

$$\begin{array}{c} \text{Mickey head} \\ 3 \end{array} - \begin{array}{c} \text{Mickey head} \\ 2 \end{array} = \begin{array}{c} \text{Mickey head} \end{array}$$